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35.65978 140.0451 B=

35.65957 140.0449 B=
35.65977 140.0452 B=X
35.65999 140.0449 B=X
35.63774 140.2035 F#:2
35.63703 140.2026 F#=
35.63765 140.203 F#=
35.63722  140.204 ==
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[11] BERICEEEFHORE - EREHHTE 2083601
print (model .predict ([[35.658752, 140.044886], [35.659848, 140.044872], [35.659950, 140.044961], [35.659636,140.044828], [35.650964, 140.044911110)
print (mode | .predict ([[35.637806, 140.203567], [35.636928, 140.203181], [35.637448, 140.202898], [35.63835b6, 140.2033311, [35.637621, 140.204046]11))
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[ 1 HE#ICEED w5 B SAT— 8 AEDETE 20T
print (model .eredict ([0, 1, 11, [1, 8.56, 11, [2, 13.18, 11, [2, 14.08, 01, [2, 16.21, 2], [2, 16.28, 2], [2, 17.18, 01, [2, 18.46, 1], [2, 23.06, 111))

(BEmTY 'BEwrT 'BEasrt WEFP 'FEosrt Fhowa® IRET BEsrt BEmET ]

| \

/<
4
7

%/ ﬁ'nIEb‘\\l\ X2







\/

==







